Orebridgen

IAF omg 4 halvlek 2

IMP over faltet, 16 bord, 28 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 305 1.90 Leo Karttunen - Tomas Persson 7838 13449
2 102 1.75 Kenneth Wallin - Leif Andersson 1597 2967
3 205 151 Lennart Johansson - Joakim Johansson 20178 68245
4 4 1.50 Erik Spangberg - Bo Sjoberg 140 87463
5 202 1.38 Jimmy Herrdin - Jan Lindgren 81411 90754
6 307 1.38 Tony Bergman - Per-Arne Johnson 55871 55873
7 7 1.22 Margareta Bjorklund - Gunilla Bergman 55868 59000
8 103 1.18 Bjorn Forsberg - Krister Berg 8319 9747
9 108 1.09 Krister Sundstrom - Siv Henriksson 200635 201374
10 203 0.99 Therése Andersson - Micael Svensson 35554 2383
11 8 0.58 Jan Nyrén - Gunilla Bostrém 89540 88492
12 301 0.35 Johan Gronkvist - Suzanne Lemborn 8342 14984
13 104 0.13 Lars S Karlsson - Hagen Geissler 63419 28838
14 1 0.06 Bjorn Andersson - Thomas Brehmer 14660 4133
15 201 -0.06 Rolf Selander - Michael Runfors 7824 10344
16 304 -0.13 Henry Fredén - Allan Oberg 31666 90229
17 101 -0.35 Lars Lundqyvist - Lena Lundqvist 6692 25982
18 208 -0.58 Lisbeth Call - Eva Wahlstrom 200641 200629
19 3 -0.99 Joachim Borgel - Tommy Jansson 4050 10138
20 308 -1.09 Jarl Jénsson - Ann Johansson 32936 32933
21 303 -1.18 Magnus Hultman - Joakim Guldbrand 14044 14177
22 207 -1.22 Bertil Borgenkrantz - Bjorn Pettersson 68230 68231
23 107 -1.38 Goran Steninger - Leif Oscarsson 67345 67346
24 2 -1.38 Leif Lindman - Rolf Johansson 29464 11078
25 204 -1.50 Dan Storas - Karl-Erik Nilsson 64231 46221
26 5 -1.51 Thorbjorn Fredriksson - Carina Larsson 45513 80635
27 302 -1.75 Bertil Blomgvist - Anki Johansson 7823 29219
28 105 -1.90 Kent Karlsson - Conny Svensson 4155 7638
13 & D8542 Bésta kontrakt 14 452 Bésta kontrakt 15 49 Bésta kontrakt
Nord v EK10 54 N =650 Ost v 10962 2NT O =-120 Syd v D6 44 V =-420
Alla ¢ E3 Ingen + K10962 NS ¢ KKn1098742
#EDI10 & ¢ v & NT #E3 & ¢ v & NT %103 & ¢ v & NT
4 K9 « E63 N 7 10101110 « EK3 4 D974 N56 5505 4 E1075 4 KD862 N49 425
vKn832 v95 S 7 10101110 vK4 v EDKn8 S56555 vEK32 v874 S59425
4972 + D105 06 2323 + D83 ¢+ Kn74 O7 77 838 +5 463 O 8 4 9 105
&#Kn742 #K8653 V62323 #108752 #Kn9 V77788 D872 #E96 V 8 4 9 105
4 Knl107 » Kn1086 & Kn43
vD764 v 753 v Kn1095
+ KKn864 ¢+ E5 ¢ED
9 +KD64 #KKn54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 3NN+2 #3 660 38.0 -38.0| 3203 3NO-2 4J 100 78.0 -78.0(| 7 207 3¢ N+1 v4 130 101.0 -101.0
1201 44 N+1 v9 650 38.0 -38.0(108 308 2v V-2 T 100 78.0 -78.0(103 303 3¢ S= ¥vA 110 96.0 -96.0
5 205 44 N+1 v9 650 380 -380(| 7 207 3NV-1 2 50 61.0 -61.0(108 308 3¢ N= 42 110 96.0 -96.0
7 207 44 N+1 #3 650 38.0 -38.0| 4204 2NV= ¢2 -120 2.0 -2.0|101 301 44 O-1 43 50 79.0 -79.0
8 208 44 N+1 &3 650 38.0 -38.0| 8 208 INO+1 &4 -120 20 -20| 4 204 34V+1l vQ -170 13.0 -13.0
102 302 44 N+1 #3 650 38.0 -38.0(101 301 INV+1 2 -120 20 -20| 8208 34 O+1 ¢A -170 13.0 -13.0
104 304 44 N+1 &3 650 38.0 -38.0|103 303 2NV= ¢2 -120 2.0 -2.0(102 302 4¢ N-2 «A -200 6.0 -6.0
105 305 44 N+1 v9 650 38.0 -38.0(105 305 2v O+1 ¢A -140 -8.0 8.0(104 304 5¢DN-1 4K -200 6.0 -6.0
108 308 44 N+1 v9 650 38.0 -38.0 1201 INV+2 ¢9 -150 -8.0 8.0(107 307 3v S-4 ¢5 -400 -58.0 580
3 203 3NN+1 #3 630 250 -250( 5205 INV+2 v6 -150 -8.0 8.0 1201 44 0= ¢A -420 -66.0 66.0
4 204 44 N= v9 620 25.0 -25.0(104 304 2NV +1 3 -150 -8.0 8.0 2202 44 O= ¢A -420 -66.0 66.0
107 307 2NS+2 ¥3 180 -96.0 96.0|107 307 2NV +1 2 -150 -8.0 8.0 3203 44 0= ¢A -420 -66.0 66.0
101 301 3NN-1 #3 -100 -148.0 148.0| 2 202 3NO= &J -400 -89.0 89.0|105 305 44 O= ¢A -420 -66.0 66.0
103 303 3NN-1 #9 -100 -148.0 148.0|102 302 3NO+1 #«J -430 -96.0 96.0( 5 205 5¢DN-2 4K -500 -88.0 88.0
16 «KD3 Basta kontrakt 17 D6 Basta kontrakt 18 & Kn97 Basta kontrakt
Vast v 109865 6¢ V =-1370 Nord v K972 34 ND-1-100 Ost v432 5NT V =-460
oV .- Ingen + E964 NS ¢ EK32
#D10973 & ¢ v & NT #EKn6 & ¢ v & NT #KKn5 & ¢ v & NT
4E102 4Kn5 N6 1551 4Kn874 4 E9532 N8 8856 4« EKD 41085 N6 3242
vED72 vKA4 S51451 v1084 vED3 S 88856 vD8 vEKKn965 S 6 3 2 4 2
4974 ¢ EK108653 O 7 128 8 11 41082 ¢ KKn5 055587 ¢ DKn764 ¢ 108 O 7 10109 10
#Kn42 #EK vV 7 128 8 11 21042 #K9 V55587 #E43 «D7 vV 7 10119 11
408764 4 K10 #6432
vKn3 v Kn65 v 107
¢ DKn2 + D73 495
#865 #D8753 #109862
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
103 303 7¢ O-1 49 100 167.0 -167.0| 4 204 2¢ N= 43 90 57.0 -570( 5 205 6v O-2 &T 100 134.0 -134.0
3 203 5¢ O+1 49 -620 12.0 -12.0|105 305 INS= 47 90 57.0 -57.0(102 302 4v O-1 «&T 50 126.0 -126.0
7 207 5¢ O+1 49 -620 120 -120| 8 208 INO-1 ¢Q 50 44.0 -44.0 1201 490= +¢9 -420 -13.0 13.0
105 305 5¢ O+1 49 -620 12.0 -12.0|107 307 2v N-1 A -50 11.0 -11.0| 4 204 4vy O= T -420 -13.0 13.0
107 307 5¢ O+1 vJ -620 12.0 -120| 7 207 INS-2 4J -100 -12.0 12.0|101 301 4y O= 2 -420 -13.0 13.0
102 302 3BNO+1 49 -630 11.0 -11.0|108 308 3#S-2 &7 -100 -12.0 12.0|108 308 3NV+1 A -430 -13.0 13.0
1201 BNO+2 49 -660 -2.0 2.0 1201 24 O= ¢3 -110 -140 140| 2 202 4vyO+1 ¢9 -450 -26.0 26.0
2 202 3NO+2 «9 -660 -2.0 20| 2 202 24 O= ¢3 -110 -140 140| 3 203 4vO+1 ¢A -450 -26.0 26.0
4 204 3NV+2 &K -660 -2.0 20| 3203 24 O= 5 -110 -140 140( 8 208 4v V+1 ¢A -450 -26.0 26.0
5205 3NV+3 #3 -690 -140 14.0|103 303 24 V= 4Q -110 -140 14.0|103 303 4v V+1 ¢A -450 -26.0 26.0
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8 208 3NV+3 #9 -690 -14.0 14.0|104 304 24 O= +¢3 -110 -140 14.0|104 304 4v O+1 »T -450 -26.0 26.0
104 304 3NV+3 T -690 -140 14.0(101 301 INO+1 #3 -120 -17.0 17.0(105 305 4v V+1 v2 -450 -26.0 26.0
108 308 3NV +3 #3 -690 -140 140| 5 205 24 O+1 ¢3 -140 -28.0 28.0|107 307 5+ O= ¢9 -450 -26.0 26.0
101 301 66 O= 49 -1370 -164.0 164.0 (102 302 3NN-3 42 -150 -30.0 30.0| 7 207 3NV+2 ¢A -460 -26.0 26.0
19 482 Basta kontrakt 20 4 EDKn5 Basta kontrakt 21 & Kn87 Basta kontrakt
Syd v Kn8743 44 V D -1200 Vast v75 ANT N =630 Nord v KDKn86 3NT O =-400
oV +32 Alla ¢E NS ¢ 105

*EDG5 & ¢ v & NT #KKn10875 & ¢ v & NT #542 & ¢ v & NT
« KDKn54 #763 N9 3 103 6 4 K108 #7432 N 116 9 1010 4543 «ED6 N3 3763
v K5 v2 S 9 3 103 6 vE103 v DKn2 S 116 101010 v93 vE104 S$3376 3
¢109876 ¢EKDKn4 O 4 103 9 6 ¢ KKn754 ¢ D832 027333 ¢ DKn7 ¢ E942 O 10106 7 9
&9 #Kn743 V 4 103 9 6 *64 *32 V27333 #ED1087 #963 VvV 10106 7 9

«E109 + 96 4 K1092

v ED1096 v K9864 v 752

+5 + 1096 + K863

#K1082 #ED9 #KKn

Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang

2 202 4v S+1 &K 450 103.0 -103.0| 1 201 3NN+1 3 630 119.0 -119.0| 3 203 INV= vK -90 39.0 -39.0

4 204 4v S= #9 420 97.0 -97.0(103 303 3NS+1 ¢4 630 119.0 -119.0 103 303 INV= vK -90 39.0 -39.0
102 302 4v S= &K 420 97.0 -97.0|101 301 5# N= ¢3 600 116.0 -116.0| 8 208 24 O+1 +6 -110 27.0 -27.0
103 303 54DV-1 v3 200 30.0 -30.0( 2 202 3« N+2 &2 150 -8.0 8.0(101 301 INV+l vK -120 27.0 -27.0

7 207 2v S+2 &K 170 240 -240| 4 204 2#N+3 ¢Q 150 -8.0 80| 2202 INV+2 vK -150 13.0 -13.0

8 208 3v S= 48 140 110 -11.0| 7 207 3« N+2 +2 150 -8.0 80| 7207 INV+2 vK -150 13.0 -13.0
107 307 2v S+1 &K 140 110 -11.0| 8 208 4« N+1 2 150 -8.0 8.0(108 308 INV+2 vK -150 13.0 -13.0
108 308 5¢ O-1 vA 100 -3.0 3.0/102 302 4+ N+1 ¢3 150 -8.0 80| 1201 INO+3 ¢2 -180 10 -1.0

5205 5vS-1 &9 -50 -49.0 49.0|104 304 24 N+3 ¢3 150 -8.0 8.0 4 204 INV+3 vK -180 10 -1.0
105 305 4v S-1 «K 50 -49.0 49.0(108 308 INS+2 ¢5 150 -8.0 8.0(104 304 INV+3 vK -180 10 -1.0

1201 4vDS-1 4K -100 -68.0 68.0(107 307 3¢ V-1 ¥5 100 -30.0 30.0|105 305 INV+3 vK -180 10 -1.0

3 203 5vDS-1 K -100 -68.0 680| 5205 6#N-1 ¢3 -100 -80.0 80.0|107 307 INV+4 v6 -210 -11.0 11.0
101 301 5vDS-1 4K -100 -68.0 68.0(105 305 6#N-1 vQ -100 -80.0 80.0|102 302 3NO= 42 -400 -73.0 73.0
104 304 5vDS-1 4K -100 -680 68.0| 3 203 4vS-2 &6 -200 -108.0 1080| 5 205 3NO+2 49 -460 -91.0 910
22 a74 Basta kontrakt 23 4983 Basta kontrakt 24 « EKn95 Basta kontrakt
Ost v E1094 5¢ OD-1200 Syd v KKn8 3v S =140 Vast v 102 34 ND-1-100
ov + Kn Alla + EKn2 Ingen + K108

#EKD742 & ¢ v & NT #K953 & ¢ v & NT #Kn982 & ¢ v &4 NT
# KKn « ED1096 N 113 9 4 8 «EKD107 462 N45955 «64 #1032 N7 7 485
v73 v Kn52 S 113 8 4 8 v 106 v43 S$45955 vE653 vKKn974 S77 485
¢ K10432 498765 02 101 6 2 ¢ D854 ¢ 1096 077484 +D763 ¢E9 066 956
#Kn853 - vV 2 101 6 2 «D7 #EKn10862 V 7 7 4 8 4 #KD4 &763 V66956

4 8532 4 Kn54 « KD87

v KD86 v ED9752 vD8

¢ED ¢ K73 ¢ Kn542

#1096 *4 #E105

Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 6y S= v3 980 157.0 -157.0|104 304 4« V-2 vK 200 75.0 -75.0|102 302 5¢vD O -2 4K 300 108.0 -108.0

1201 4v S+2 v2 480 49.0 -49.0(102 302 3v S= &A 140 56.0 -56.0| 4 204 24 N= +¢A 110 50.0 -50.0

3 203 4y S+1 &K 450 38.0 -38.0|108 308 3v S= #4A 140 56.0 -56.0|108 308 24 N= ¥4 110 50.0 -50.0

4 204 4v N+1 +6 450 38.0 -38.0| 7207 2vS= 4A 110 420 -420| 1 201 34 N-1 a2 -50 0.0 0.0

5205 4y N+1 ¢9 450 38.0 -38.0|107 307 2v S= 4A 110 420 -42.0( 7 207 34 N-1 ¢A 50 0.0 0.0
102 302 4v N+1 9 450 380 -380| 1201 4¢vS-1 4A -100 -260 26.0| 8 208 34 N-1 v4 -50 0.0 0.0
104 304 4v S+1 &K 450 38.0 -38.0| 2202 4¢vS-1 «A -100 -26.0 26.0|101 301 34 N-1 +A 50 0.0 0.0

8 208 4v S= ¢T 420 29.0 -29.0| 3 203 4vS-1 +A -100 -26.0 26.0|103 303 34 N-1 &2 -50 0.0 0.0
107 307 2v S+3 +2 200 -38.0 380| 4 204 4vS-1 «A -100 -26.0 26.0|104 304 34 N-1 v4 -50 0.0 0.0

2 202 3#N+2 ¢5 150 -56.0 55.0| 8 208 4vS-1 4A -100 -26.0 26.0( 5 205 44 N-2 ¢A -100 -240 240

7 207 44 N+1 ¢5 150 -55.0 550|101 301 4vS-1 A -100 -26.0 26.0|107 307 24 S-2 ¢6 -100 -240 24.0
103 303 3« N+2 v2 150 -55.0 550103 303 4vS-1 A -100 -260 26.0| 3203 2v O+1 &K -140 -380 38.0
105 305 6#S-1 v7 -50 -111.0 111.0(105 305 4v S-1 «A -100 -26.0 26.0(105 305 3vy O= &K -140 -38.0 38.0
108 308 4y S-1 «2 -50 -111.0 1110| 5 205 4vS-2 «Q -200 -63.0 63.0| 2 202 44aDN-2 ¢A -300 -840 84.0
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